10.

In a sale all prices are reduced by 35%.
Alan bought a mobile phone in the sale for £143.50.

Work out the original price of the mobile phone.

The price of a property was reduced by 24%, but the new price was later increased by 45%.

Work out the overali percentage increase of the property price.

(3)

(2)



_l—ll—l‘—ll—ll—

47. A number is increased by 25% and the resulting
number is then decreased by 20%. The final number is
what percent of the original number?

90%
95%
100%
105%
120%

HOQF P



2. To keep up with rising expenses, a motel manager
needs to raise the $40.00 room rate by 22%. What will
be the new rate?

$40.22
$42.20
$48.00
$48.80
$62.00

sl



17. Leticia went into Discount Music to price CDs. All
CDs were discounted 23% off the marked price. Leticia
wanted to program her calculator so she could input the
marked price and the discounted price would be the
output. Which of the following is an expression for the
discounted price on a marked price of p dollars?

A. p-0.23p
B. p-0.23
C. p-23p
D. p-23

E. 0.23p



33. For a population that grows at a constant rate of r% per

t
year, the formula P(¢) = po(l + T(;_O> models the popu-

lation ¢ years after an initial population of p, people is

counted.

The population of the city of San Jose was 782,000 in
1990. Assume the population grows at a constant rate
of 5% per year. According to this formula, which of
the following is an expression for the population of
San Jose in the year 2000 ?

782,000(6)"°

782,000(1.5)"

782,000(1.05)"

(782,000 x 1.5)"°

(782,000 x 1.05)°

SIS NS



7. If 40% of a given number is 8, then what is 15% of the
given number?

1.2

HOOR >
AN W=
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30. A formula used to compute the current value of a
savings account is A = P(1 + r)", where A is the current
value; P is the amount deposited; r is the rate of
interest for 1 compounding period, expressed as a
decimal; and n is the number of compounding periods.
Which of the following is closest to the value of a
savings account after 5 years if $10,000 is deposited at
4% annual interest compounded yearly?

$10,400
$12,167
$42,000
$52,000
$53,782

e O



6. Jorge’s current hourly wage for working at
Denti Smiles is $12.00. Jorge was told that at the
beginning of next month, his new hourly wage will be
an increase of 6% of his current hourly wage. What
will be Jorge’s new hourly wage?

$12.06
$12.60
$12.72
$18.00
$19.20

FeE o



21. To get a driver’s license, an applicant must pass a
written test and a driving test. Past records show that
80% of the applicants pass the written test and 60% of
those who have passed the written test pass the driving
test. Based on these figures, how many applicants in a
random group of 1,000 applicants would you expect to
get driver’s licenses?

200
480
600
750
800

HEOOFE >
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. .31. To get-a driver’s license, an applicant must pass-a
- written'test and a driving test. Past records show "that
.. 80% of the applicants pass the written test and 60% of

those who have passed the writfen test pass the driving
~ test. Based on these figures, how many applicants in a

- getdriver’s licenses? = . . i oot

. 200

. 480

600

750

800 "
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A poll of 200 registered voters was taken before the
election for mayor of Springdale. All 200 voters indicated
which 1 of the 4 candidates they would vote for. The
results of the poll are given in the table below.

Candidate Number of voters

Blackcloud 50
Lue 80
Gomez 40
Whitney 30

13. What percent of the voters polled chose Whitney in the
poll?

15%
20%
25%
30%
40%

HEQWEP

14. If the poll is indicative of how the 10,000 registered
voters of Springdale will actually vote in the election,
which of the following is the best estimate of the
number of votes Lue will receive in the election?

1,500
2,500
4,000
5,000
8,000

R QT

15. If the information in the table were converted into a
circle graph (pie chart), then the central angle of the
sector for Gomez would measure how many degrees?

A. 54°
B. 72°
C. 90°
D. 108°

E. 144°




Kaylee is planning to purchase a car. She will need to
borrow some of the money and has a chart, shown below, to
use to approximate her monthly payment. The chart gives
the approximate monthly payment per $1,000 borrowed.

Monthly payment per $1,000 borrowed for various
annual rates and various numbers of payments

Number of monthly payments
Annual interest
rate 36 48 60
5% $29.97 $23.03 $18.87
8% $31.34 $24.41 $20.28
10% $32.27 $25.36 $21.24
12% $33.22 $26.34 $22.24

42. Kaylee found a used car she is thinking about pur-

43.

chasing. The list price is $8,795. She calculates that
she will need to borrow $6,500. Approximately what
would her monthly payment be if she borrowed the

money for 36 months at an annual interest rate of
10% ?

F. $5164.84
G. $171.21
H. $209.76
J. $234.72
K. $283.81

A local dealership is having an end-of-the-model-year
clearance sale and is offering 5% annual interest on
new-car loans for 36, 48, or 60 months. The maximum
amount Kaylee can budget for her monthly car pay-
ment is $300. Of the following loan amounts, which
one is the maximum Kaylee can borrow at 5% annual
interest and stay within her budget?

A. $10,000
B. $13,000
C. §14,000
D. $15,000
E. $20,000

. Another dealership is offering 5-year loans with a

9% annual interest rate. Kaylee uses her chart to esti-
mate the payment per $1,000 borrowed. Of the fol-
lowing, which is most likely the monthly payment per
$1,000 borrowed?

$20.52
$20.76
$20.85
$21.00
$21.74

R i 0




